

$$a_n = a \cdot q^{n-1} \rightarrow q = r \quad a = \frac{1}{r} \rightarrow \frac{r^{n-1}}{r} \rightarrow r^{n-2}$$

(1)

$$\frac{r^{10-1}}{r} \rightarrow \frac{r^9}{r} = r^8 \quad (2)$$

$$\frac{a_{10}}{a_1} = q^{10-1} \rightarrow q^9 \rightarrow r^9 = 14 \quad (3)$$

$$q^{n-1} = \frac{1}{a} \rightarrow \frac{a \cdot q^9}{a \cdot q^1} = q^{9-1} \rightarrow q^{n-1} = q^8 \quad a = n-1 \quad (4)$$

$$\rightarrow n = 9$$

$$a_9 = r^{9-1} \rightarrow r^8 = 14 \quad (5)$$

$$r^{9-2} = 14 \rightarrow r^7 = 14 \rightarrow n = 9$$

(1)

$$\begin{aligned} a_{10} = 12 &\rightarrow a \cdot q^9 \\ a_1 = 94 &\rightarrow a \cdot q^0 \end{aligned} \quad \frac{a_{10}}{a_1} = q^{10-1} \rightarrow q^9 = \frac{12}{94} \rightarrow q^9 = 1 \rightarrow q = r$$

(2)

$$a \cdot q^9 = 12 \rightarrow a \cdot r^9 = 12 \rightarrow a = 12 \rightarrow a = \frac{12}{r^9}$$

$$a_{10} = a \cdot q^9 \rightarrow \frac{12}{r^9} \times r^9 \rightarrow 12 \times r^0 = 12 \quad (3)$$

$$\frac{a_1 \cdot a_2 \cdot a_3 \cdot a_4}{a_1} = r \cdot r \rightarrow a_2 \cdot a_3 \cdot a_4 \rightarrow a_2 \cdot r = r \cdot r \rightarrow a_2 = r$$

$$\sqrt[3]{r \cdot r \cdot r} = r$$

(1)

$$a_2 = r$$

$$a_2 = r \quad (2)$$

$$a_1 \cdot a_2 = a_1 \cdot r \rightarrow r^2 = 9 \quad (3)$$

$$(r \cdot r)^r = r^{a+b} \rightarrow r^r = r^{a+b} \rightarrow r^{\omega} = r^{a+b} \rightarrow a+b = \omega$$

(4)

$$\frac{a+b}{r} \rightarrow \frac{\omega}{r}$$

$$a \cdot q^r = 1 - x$$

$$a \cdot q^9 = x \rightarrow a \cdot r^9 = x$$

$$a \cdot q^{10} = x + 1$$

$$x = (1-x)(1+x) \rightarrow 1-x^2 = x^2 \rightarrow r \cdot x^2 = 1 \rightarrow x^2 = \frac{1}{r} \rightarrow x = \frac{1}{\sqrt{r}} \rightarrow \frac{\sqrt{r}}{r} \rightarrow \frac{\sqrt{r}}{r}$$

(5)

$$\left. \begin{aligned} a + aq^r &= r\lambda \rightarrow a(1+q^r) \\ aq, aq^r &= r\lambda \rightarrow a(q^r + q) \end{aligned} \right\} \frac{r\lambda}{1r} = \frac{1+q^r}{q^r+q} \rightarrow \frac{1+q^r}{q(q+1)}$$

$$\rightarrow 1r, 1r q^r = r\lambda q + r\lambda q^r$$

$$1r q^r - r\lambda q^r - r\lambda q + 1r = 0 \rightarrow r(q^r - vq^r - vq + r) = 0 \rightarrow r q^r - vq^r - vq + r = 0$$

$$\rightarrow a(1+q^r) = r\lambda \begin{cases} q=r & a=1 \\ q=\frac{1}{r} & a=r\lambda \end{cases}$$

$$1, r, q, \sqrt{r} \quad | \quad \sqrt{r}, q, r, 1 \quad \rightarrow \text{مجموع } r\lambda$$

$$a_1 + a_2 + a_3 = 1r \rightarrow a + aq + aq^r$$

$$a, a, a = r\lambda \rightarrow a^3 q^r = r\lambda \rightarrow aq = \sqrt[3]{r\lambda} \rightarrow aq = r$$

$$\rightarrow a, aq = \frac{r\lambda}{r} \rightarrow a = a, aq$$

نقض کنیم

در دو حالت درست

$$\begin{matrix} q, r, 1 \\ 1, r, q \end{matrix}$$

$$\frac{r}{q} + r q = 1r - r \rightarrow 0 \rightarrow r(q + \frac{1}{q}) = 10 \rightarrow q + \frac{1}{q} = \frac{10}{r} \rightarrow \frac{q^r + 1}{q} = \frac{10}{r} \rightarrow r q^r + r = 10q$$

$$\rightarrow r q^r + r + 10q = 0 \rightarrow q^r + 10q + 1 = 0 \rightarrow (q-1)(q^r+1) = 0 \rightarrow q = 1 \text{ یا } q = -1$$

$$a_n = r, q, 1, \lambda, \dots \quad a_1 = r \quad q = r$$

$$S_{10} = a_1 \left(\frac{q^{10} - 1}{q - 1} \right) \rightarrow r \left(\frac{r^{10} - 1}{r - 1} \right) \Rightarrow r \frac{r^{10} - 1}{r - 1}$$

(الف)

$$P_{10} = (a_1, a_2, \dots, a_{10})^T \rightarrow (r, r^2, r^3, \dots, r^{10})^T \rightarrow (r, r^2, r^3, \dots, r^{10})^T$$

(ب)

$$a_{10} = r(r)^{10-1} \rightarrow r r^9$$

$$\cancel{a_{n+1} > a_n} \rightarrow \cancel{a q^n > a q^{n-1}} \rightarrow \cancel{a(q^n - q^{n-1})} \rightarrow \cancel{a(q^{n-1}(q - 1))}$$

(ج)

$$a_n = a q^{n-1}$$

$$d_n = a_{n+1} - a_n$$

$$d_n = a q^n - a q^{n-1} \rightarrow a(q-1) q^{n-1}$$

$$\frac{d_{n+1}}{d_n} = \frac{a(q-1)q^n}{a(q-1)q^{n-1}} = q$$

$$d_n = 0 \leftarrow 1 = q \text{ اگر}$$

$$\text{الف) } S_n = \frac{n}{2} (r a_1 + (n-1)d) / \frac{n}{2} (a_n + a_1)$$

(د)

$$|a| + |b|d + |b| + |r|d + \dots + |a + (n-1)d| \rightarrow |a| + |d| + |r|d + \dots + |(n-1)d|$$

$$d(1 + r + \dots + (n-1)) \rightarrow d \left(\frac{n(n-1)}{2} \right) \Rightarrow a_n + d \left(\frac{n(n-1)}{2} \right)$$

$$\rightarrow \frac{n}{2} (r a_1 + (n-1)d) \quad \square$$

$$\text{ب) } S_n = a \left(\frac{q^n - 1}{q - 1} \right)$$

$$(a + aq + aq^2 + \dots + aq^{n-1}) \xrightarrow{\times q} aq + aq^2 + \dots + aq^n$$

$$S_n - q S_n = a - aq^n \rightarrow S_n (1 - q) \rightarrow S_n = a \left(\frac{1 - q^n}{1 - q} \right) \quad \square$$